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‘.IGiVen the following equation: 2 C4Hjg + 13 O; -—-> 8 C()z@ show what the following molar ratios

ould be.

a.C;Hm/(‘)zl 1/15
b. 0:/CO; \’5}8

c. 02/ H,0 \’%/'O
d. CiHio/ CO, 2_/%,

e. CsHyo/ H,O 2-//0

2. Given the following equation: 2 KClO3 --->2 KC1 + 3 O,

How many moles of O; can be produced by letting 12.00 moles of KC1O; react?

\% Mo\ O ' ‘ [

3. Given the following equation: 2 K + Cl; ---> 2 KCI

How many grams of KCl is produced: A) from 2.50 g of K and excess Cl,. B) From 1.00 g of Cl, and excess K?

i

YA 4 KON 2104k L

4. Given the following equation: Na;O + H,0O ---> 2 NaOH

How many grams of NaOH is produced from 1.20 x 10* grams of Na,O? How many grams of Na,O are required
to produce 1.60 x 10 grams of NaOH?

154 8o NooW
1249 NG, O 1819

5. Given the following equation: 8 Fe + Sg ---> 8 FeS

What mass of iron is needed to react with 16.0 grams of sulfur? How many grams of FeS are produced?

. AT, e HY o FeO
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6. Given the following equation: 2 NaClO; ---> 2 NaCl + 3 O,

12.00 moles of NaClO; will produce how many grams of O,? How many grams of NaCl are produced when SO.b
= f 2« d d?
grams of O» are produce \)5% 01 L‘ c,,}s " NQOI

7. Given the following equation: Cu + 2 AgNQO; ---> Cu(NO;), + 2 Ag

How many moles of Cu are needed to react with 3.50 moles of AgNO;? If 89.5 grams of Ag were produced, how
many grams of Cu reacted? \L

. 3Smol e o3 o Cuc

8. Molten iron and carbon monoxide are produced in a blast furnace by the reaction of iron(III) oxide and coke (pure
carbon). If 25.0 kilograms of pure Fe,O; is used, how many kilograms of iron can be produced?

The reaction is: Fe;03 +3 C ---> 2 Fe + 3 CO

1.5 ¥ Fe

9. The average human requires 120.0 grams of glucose (C¢H120s) per day. How many grams of CO (in the . |
photosynthesis reaction) are required for this amount of glucose?

The photosynthetic reaction is: 6 CO; + 6 HyO ---> C¢H1,04 + 6 0,
\% %) CO*Z

10. Given the reaction: 4 NHj3 (g) + 5 O, (g) --->4NO (g) + 6 H,O D

When 1.20 mole of ammonia reacts, the total number of moles of products formed is:

‘.2. Mo\ N O
\& mo\ ¥, 0
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